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Outline the features and classifications of primary rocks.
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The Government of India Act 1858 transferred the power from the East India company to the British Crown. | not write on

However, the system of government that prevailed in India was hardly affected. The changes made were
artificial. Critically analyze. (150 words) 10
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The Vedic period has contributed immensely to various fields such as literature, religion and philosophy.
Discuss. (150 words) 10
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The ‘Deccan Trap’ holds substantial natural resource potential. Elucidate. (150 words) 10

u—qw@m[ B 41 Tt
TFH o HRC T B S el

'T%UHT % RGN A e Wﬂ— D123

ae Ir wmEa Y T T w3

I MR I =

IedgEn # 3H
o =nfe

(Candidate must
not write on this

margin)

o TS TET e
AEcT — 77

=t ey |

swrer—ér%a‘ﬁ—%?r

BT T R~ e e e X

\:Efﬂ c
Tt W 3T = —
=™ SE oer—é | ) kil L

@ oA g Hf wr- ST, S %
CoTEAT, mﬁ—tﬁﬁﬁ-ﬁrﬂ‘%%ﬁy

0%, %nrcb ’rTW‘?? 32?9* AT c%- TaeTen,




12

@ 19 F AR 5 S 7 e
o e zam T ST e
T At = % sqere )

@E‘%W?%WWJ e BT S

Sl —es ; IFeyar

» W IR = gy Sy oww a
Ao B A W % e
_?319‘1&4‘]

L, Ep sfileT - FPA & quT, s, HE

Srar ) g FAT oA TIHT LgH e
AT BRI S A o 2
| ot qeere .

= e oy BT Gty Jaeid s
g AT T Tap ST S

Sma1 AAT 3w, g A FEITC
ety =T wer&f'}.

IEEAR F W
e § &
foran =ifed)

_=.ﬁ
-
=1 =)



13

&
drishti qk

fofew i Al 4 i TRofE AR SR FfT #i fFe vER JeaE g (150 ¥1=) 10

Explain how British economic policies hurt the Indian traditional industries and agriculture. (150 words) 10
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Explore the impact of ‘same-sex marriage’ on the traditional institution of marriage. (150 words) 10
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India has substantial wind energy potential, but its spatial distribution is limited. Explain. (150 words) 10
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Explore the positive and negative impacts of work-from-home on family dynamics. (150 words) 10
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Discuss the literary significance and contributions of Kalidasa of the Gupta period. (150 words) 10
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Examine the factors that determine ocean currents and their influence on the global fishing industry.
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How did unique forms of architecture develop in the hills of Kumaon, Garhwal, Himachal and Kashmir?
Enumerate with examples. (250 words) 15
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Discuss the global distribution of rubber production and highlight the major environmental issues affecting
rubber producing countries. (250 words) 15
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“Transitioning from a welfare-based approach to an agent-based approach is essential for realizing true
women empowerment in India.” Evaluate this statement in the context of the recently passed Women’s
Reservation Act in Parliament. (250 words) 15
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Explain how straits and isthmuses influence global trade. (250 words) 15
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“The more I study the period, the more I am convinced that military inefficiency was the principal, if not the
sole cause of empire’s final collapse.” Discuss the statement with reference to the fall of Mughal Empire.

(250 words) 15
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The troposphere is a critical atmospheric layer that governs weather processes. Explain.
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Indian National Congress was one of the first pan-India organizations to mobilize support for Indian national

movement. However, even before its founding, various nationalist bodies did exist in different parts of the
country. Highlight their contributions towards Indian Nationalist movement. (250 words) 15
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